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ALUMNO: GRUPO: FECHA:
1 2 v R
R1 R1
R2 R2
rR1[ | 4000 R1[] 9900
+] R12 +] R12
12v r2[ | 2000 10v rR2[ 100
3 4 v R
R1 R1
R2 R2
rR1[ | 2500 R1
+] R12 +] R12
12v R2 12v R2
V_R2 = by V_R2 = 3v
| = 6mA
5 6 v R
1 R1 1 R1
rR1[ 1000 R2 R1[] 2000 R2
e R2]:1OOQ i z R2I i
T1ov T R123 T1ioy T R13
R123
R3[| 1000 R3[| 2000
T T
V_R2 = Bv
7 8 Y, R
R1 R1
R2 E]Ri R2
v |y L6000 v X
L2v [}RZ +| V2
600Q T,
9 10 Y, R
R1 R1
R2 E]Ri R2
v v L2000 v X
12vibpy  +]W2 Lov []RZ +]V2
800Q T, oy
V2 = 10mA V2 = 15mA
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ALUMNO: GRUPO: FECHA:
11 12 Y, R
R1 R1
R2 R2
R12 R12
r [}Rl [}R2 . [}Ri [}R2
12y 12000 L1300Q 12y L 500Q
|_total = 30mA
13 14 v R
R1 R1
R2 E]Ri R2
520Q
R3 + R3
R23 T12v ' R23
R3  R123 [}Rz RS R123
100Q 100Q L1 400Q
15 16 Y, R
R1 R1
R1 R2 E]Ri R2
500Q 1KQ
< R3 + R3
T1oy R23 T 12y R23
R2 R3  R123 []Rz R3 R123
3KQ 1KQ
V_R2 = 6v V_R2 = 5v
17 18 Y, R
' R1 R1
R1 R2 []Ri R2
1KQ R3 100Q R3
il [}R3 pa [}R3
T 2KQ  R12 T 600Q R12
12v 12v
R2 R123 [}Rz R123
200Q 500Q
19 20 Y, R
' R1 R1
R1 R2 []Ri R2
800Q R3 500Q R3
il [}R3 pa [}R3
T1oy R12 T 12y 2KQ  R12
Egog R123 [}Rz R123
|_total = 20mA |_total = 12mA
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